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Défi mathématiques 
CM2 n°2  
Réponses 

Département  
du  

Loiret 
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Réponse possible :  

• 9 x 8 = 72    3 + 7 = 10    72 x  10 = 720   3 x 8 = 24     720 + 24 = 744 
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 Attention la figure n’est pas à l’échelle. 
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La famille Vénus a payé (16 x 2) + (6,5 x 3) = 32 + 19,5 = 51,5 € 

 

Numération Géométrie 
Organisation et 

gestion de données 
Logique 
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7 3 2 9 6 1 5 8 4 

4 8 6 2 5 3 9 1 7 

9 5 1 7 4 8 2 3 6 

6 1 3 8 2 7 4 5 9 

2 7 8 4 9 5 3 6 1 

5 9 4 3 1 6 8 7 2 

8 4 7 1 3 9 6 2 5 

1 2 5 6 8 4 7 9 3 

3 6 9 5 7 2 1 4 8 
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